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lI/IlV Semester 5 Year B.A.LL.B. (Major/Minor)
Examination, December 2016
Major — 3 : Minor — | (Paper — 3) : SOCIOLOGY
(Recent Theoretical Perspectives in Sociology)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No.9 and any five of the remaining questions.

2. Q. No.9 carries 20 marks and the remaining questions carry
16 marks each.

3. Answers should be written either English or Kannada
completely.

Q. No. 1. Explain the nature of Sociological Theories. Distinguish
between social theories and sociological theories. Marks :16
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Q. No. 2. Analyse the contribution of Karl Marx on conflict theory. Marks :16
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Q. No. 3. Describe the views of R. K. Merton on postulates of functional
analysis and Anomic. Marks :16
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Q. No. 4. What is social structure ? What are its components ? Add
A. R. Radeliff Brown’s view. Marks :16
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Q. No. 5. What are Feminist theories ? Describe any two Feminist
theories in brief. Marks :16
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

Elaborate Mcdonaldization process.
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Explain the ‘risk society’ concept given by Ulrich Beck.

Marks :16

Marks :16
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Write short note on any two of the following :
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a) Alienation-KarlMarx
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b) Problem of role analysis
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c) Concepts.
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Explain any two of the following :
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a) Levels of Theorization
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b) Relationship between theory and research
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c) A.G.l.L.—Talcott Parsons.
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Marks : 2x8=16

Marks : 2x10=20



